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(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Attempt all questions.
All questions carry equal marks.

Use of simple calculators is allowed.

Graph papers to be provided.
P.T.O.
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The Australian census of 1991 enumerated a total population
of 12,755,638 persons, of these 6,412,711 were males. The number
* of young dependants (10-14 yrs.) was 3,670,052 of whicﬁ
1,789,495 were females. 8,020,591 were active producers
(15-64 yrs.) of these 4,085,293 were males. There were only 446,861
male old dependants (65 yrs. and above). Prepare a table showing

sex and age Distribution.
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For the following data draw :
(@) A frequency polygon

(b) An ogive

Class interval Frgquency
30—40 4
40—50 5 ‘
50—60 4
60—70 9
70—80 12
80—90 5
90—100 3

P.T.O.
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3040 4
4050 5
50—60 4
60—70 9
70—80 12
80—90 5

90—100 3
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Daily rainfall record of a district for 50 days is given. Compute

first quartile, 6th deciles and 80th percentile.

Rainfall (in cm) No. of days

10—15 5
1520 i
2025 | 9
2530 5
30—35 6
3540 3
40—45 5
45—50 3
50—55 6

P.T.O.
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10—15 5
1520 8
20—25 9
2530 5
3035 6
3540 3
40—45 5

45—50 3

50—S55 6
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Calculate the coefficient of correlation for the following :

Size of landholdings No. of holdings
(in acres)
0—10 8
10—20 5
20—30 7
30—40 10
40—50 9
50—60 4
60—70 3

P.TO.
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0—10
10—20
2030

| 3040
40—s50
50—60

60—70
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Calculate the mean centre and median point for the following

data :

Village

Razapur

Naharpur
Mangolpur Khurd
Mangolpur Kalan
Sultanpur
Mahipalpur

Ramnagar

73

64

42

- 67

24

19

0.5

Coordinates

12.6
93

58

36

36

25

" Population

150

130

170

140

240

180

P.TO.
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TR 73 126 150
ARG 64 93 130
TR TR 42 58 170
TR el 6.7 36 140
AR 24 36 %0
HfgareTR 1.9 1.7 240

RUSERIES ' 0.5 25 180
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The Department of Agriculture has learnt from a study of
crop yields that the daily rainfall in parts of District A
appears to be normally distributed with a mean of 2.2 inches
during the rainy season of 180 days. The standard deviation

was 0.8 inches :

(@  What is the probability that it will rain more than 3.3 inches

on any day in the rainy season ?

(b) Find the percentage of days that it will rain more than

1.3 inches.

(¢0 How many days will there be rainfall between 2.7 and

3.0 inches ?

P.T.O.
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The following figures give the rainfall (in inches) and

the production (in ‘00s of kgs) for the rabi crop. Calculate the
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Karl Pearson’s coefficient of correlation between rainfall and

rabi production :

Rainfall Rabi production

(in inch) (in *00 kg)
20 30
2 35
24 40
26 50
28 60
30 60
32 55

P.T.O.
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2 30
2 35
24 . 40
26 50
2 60
30 60

D ’ 55
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For the given data :

(a)

®)

©

Construct a scatter diagram.
Find the regression equation of Rainfall on Runoff.

Predict the value of Y when X = 10.

Rainfall (X) Runoff (Y)
1 6
5 i
3 0
2 0
1 1
1 2
7 1
3 ' 5

P.T.O.
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Tt (x) AYETE (Y)
1 6
5 1
3 0
2 0
1 1
1 2
7 1
3 5

Write notes on :

(@) Scales of measurement

()  Random sampling.
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Calculate the mean, median and mode for the following

data :

Marks No. of Students
0—10 3
10—20 10
2030 17
30—40 7
40—S50
50—60 4
60—70 2 |

1

- 70—80

P.T.O.
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Areas under the Standard Normal curve from 0 to Z

3535

z 0 1 2 3 4 5 6 7 8 9
0.0 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359
0.1 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.067s. 0.0714 0.0754
0.2 0.0793 0.0832 0.0871 0.0910 0.0948 - 0.0987. 0.1026 0.1064 0.1103 0.1141
0.3 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
04 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879
0.5 0.1915 0.1950 0.1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2190 0.2224
0.6 0.2258 0.2291 0.2324 0.2357 0.2389 0.2422 0.2454 0.2486 0.2518 0.2549
0.7 0.2580 0.2612 0.2642 0.2673 0.2704 0.2734 0.2764 0.2794 0.2823 0.2852
0.8 0.2881 0.2910 0.2939 0.2967 0.2996 0.3023 0.3051 0.3078 0.3106 0.3133
0.9 0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
1.0 0.3413 0.3438 0.3461 0.3485 0.3508 0.3531 0.3554 0.3577 0.3599 0.3621
1.1 0.3643 0.3665 0.3686 0.3708 0.3729 0.3749 0.3770 0.3790 0.3810 0.3830
1.2 0.3849 0.3869 0.3888 0.3907 0.3925 0.3944 0.3962 0.3980 0.3997 0.4015
1.3 0.4032 0.4049 0.4066 0.4082 0.4099 0.4115 0.4131 0.4147 0.4162 0.4177
1.4 0.4i92 C.4207 0.4222 0.4236 0.4251 0.4265 0.4279 0.4292 0.4306 0.4319
1.5 0.4332 0.4345 0.4357 0.4370 0.4382 0.4394 0.4406 0.4418 0.4429 0.4441
1.6 0.4452 0.4463 0.4474 0.4484 0.4495 0.4505 0.4515 0.4525 0.4535 0.4545
1.7 0.4554 0.4564 0.4573 0.4582 0.4591 0.4599 0.4608 0.4616 0.4625 0.4633
1.8 0.4641 0.4649 0.4656 0.4664 0.4671 0.4678 0.4686 0.4693 0.4699 0.4706
1.9 0.4713 0.4719 0.4726 0.4732 0.4738 0.4744 0.4750 0.4756 0.4761 0.4767
2.0 0.4772 0.4778 0.4783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817
2.1 0.4821 0.4826 0.4830 0.4834 0.4838 0.4842 0.4846 0.4850 0.4854 0.4857
22 0.4861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4887 0.4890
23 0.4893 0.4896 0.4398 0.4901 0.4904 0.4906 0.4909 0.4911 0.4913 0.4916
2.4 0.4918 0.4920 0.4922 0.4925 0.4927 0.4929 0.4931 0.4932 0.4934 0.4936
25 0.4938 0.4940 0.4941 0.4943 0.4945 0.4946 0.4948 0.4949 0.4951 0.4952
2.6 0.4953 0.4955 0.4956 0.4957 0.4959 0.4960 0.4961 0.4962 0.4963 0.4964
27 0.4965 0.4966 0.4967 0.4968 0.4969 0.4970 0.4971 0.4972 0.4973 0.4974
2.8 0.4974 0.4975 0.4976 0.4977 0:4977 0.4978 0.4979 0.4979 0.4980 0.4981
29 0.4981 0.4982 0.4982 0.4983 0.4984 0.4984 0.4985 0.4985 0.4986 0.4986
3.0 0.4987 0.4987 0.4987 0.4988 0.4988 0.4989 0.4989 0.4989 0.4990 0.4990
3.1 0.4990 0.4991 0.4991 0.4991 0.4992  ° 0.4992 0.4992 0.4992 0.4993 0.4993
32 0.4993 0.4993 0.4994 0.4994 0.4994 0.4994 0.4994 0.4995 0.4995 0.4995
33 0.4995 0.4995 0.4995 0.4996 0.4996 0.4996 0.4996 0.4996 0.4996 0.4997
3.4 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 . 0.4998
3.5 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998
3.6 0.4998 0.4998 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999
3.7 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999
38 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999 0.4999
39 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000
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